more™” (5) more™" (5) m’ (5) more™" (5) more™" (5)
Write down the Write down the Answers  Write down the Write down the
I 1\° 1\° 1\’
a) value of | = a) value of | = a) value of | = a) value of | =
lue of 5 lue of 5 lue of 5 lue of 5
(a) 1
(b) value of 49° (b) value of 49° (b) value of 49° (b) value of 49°
................................................ (b) 1
25\° 25" 25" 25\°
(c) wvalue of (3—5) (c) wvalue of (—2) (c) wvalue of (—2) (c) wvalue of (3—5)
() 1
8\’ 8\’ 8\’ 8"
(d) wvalue of 2—7> (d) value of 2—7) oo (d) value of (2—7) (d) wvalue of ﬁ)
2\" 2\’ 2\" 2\"
(e) wvalue of | = (e) wvalueof | = (e) wvalue of | = (e) wvalue of | =
3 3 (e) 1 3 3
9" 9\’ 9\’ 9"
(f) value of | — (f) wvalue of | — (f) wvalue of | — (f) wvalue of | —
16 16 () 1 16 16
(g) value of 6° (g) value of 6° (g) value of 6° (g) value of 6°
(g) 1
25\" 25" 25" 25\"
(h) value of % (h) value of % (h) value of % (h) value of %
9 9 (h) 1 9 9
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